LINEARNE ROVNICE

1.1) Ries rovnice a urob skusku:
a) 10(2x—9) +10(2x+6) = 7
c) 9(2x-1) = -3(2x-17)
e) 7(4x+2) = —x+5

g) 9(3x—-8)+8(3x+5) = 8
1) 3(6x—9) = 9(x +2)
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1.2) Ries rovnice a urob skusku:
a) 6(7x-3) = 2x+4
c) 2(5x—6) = 3(x—-7)
e) 6(2x+9) = 8x+7
g) 6(4x—11) = -8(—x+1)
i) 4(3x+1) = 2x-12
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1.3) Ries rovnice a urob skusku:
a) 6(4x—-1) = 2x-6
c) 5(5x-2) +7(4x-3) = -10
e) 9(x—9) = -8(3x + 12)
g) 5(6x—-3)-10(2x+6) = -1
i) 6(—x+2) = -8(3x—5)

b) 3(5x + 11) = bx + 7
d) 4(-2x—-4)-7(8x - 6)
f) 5(x+3) = 10(x-9)
h) 5(8x+2) = 7x + 2
J) 3(4x+2)-5@Bx+6) = -11
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b) 4(2x+7) = -2x + 12

d) 2(5x-7)-5(Bx+3) = 10
f) 5(x+4) = -4(—x-12)

h) 10(3x + 11) + 8(6x—4) = 6
j) 3(2x-1) = 5(-x-5)
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b) 5(4x +2) = 7(2x - 2)

d) 7(6x+12) = 4x—6

f) 78x+9)+9(—x+9) =1
h) 6(5x+4) = 3x—4

j) 5(x-5)-6(8x—-12) = 2
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Vysledky: a) x =0 b)x=-4
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1.4) Ries rovnice a urob sktsku:
a) 6(x+1) = 2x+9
c) 8(5x+2)+4(7x+1) =7
e) 4(x—3) = -2x—-7
g) 3(x+12)+5(2x—-7) = -5
1) 5(7x +8) = 3x-10
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1.5) Ries rovnice a urob skusku:
a) 4(—x+6) = bx—11
c) 5(x+9) +8(7x+8) = -3
e) 7(3x-8)-7(6x-12) = 7
g) 7(4x—-11) = 6x+ 3
i) 2(6x—11) = 5x+ 11
Vysledky: a) x = 35 b) x = —110
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b) 7(6Xx—2) = —5(6X + 9)
d) 6(2x+2) = 4x+2

f) 9(5x—-9) = 5(-x +5)
h) 6(8x+5)—-9(2x + 10) = -10
J) 7(4x+6) = -2(—x—10)
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b) 5(5x + 4) = 9(2x - 10)
d 9(7x-3)+6(2x-7) = 9
f) 6(2x—9) = 7x + 12

h) 6(5x+4) = x+2

j) 7(-x-5) = 7x-4
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1.6) Ries rovnice a urob skusku:
a) 4(3x—-3)-6(—x+6) =1
c) 5(6x+1) = -9(5x +5)
e) 5(2x+8) = 7(-x + 6)
g) 6(8x—4) = 3x+6
i) 6(6x+2)-10(7x-7) = -6
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1.7) Ries$ rovnice a urob skusku:
a) 2(6x+2) = 3x-2
c) 6(2x—-9) = 4(7x-12)
e) 8(3x+9) = 2x-3
g) 6(5x+7)—-3(Bx+1) = -2
i) 10(8x+1) = -7(x+8)
Vysledky: a)x:i b)X:%
e)x:i f)X:ﬂ
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1.8) Ries rovnice a urob skusku:
a) 5(5x+12) = 4x-9
c) 5Gx+1)+8(3x-7) = -3
e) 4(5x+8) = 8x +3
g) 8(7x—-1) = —-9(4x + 8)
i) 7(6x+11)-5(2x + 8) = -3

b) 3(—x-9) = x-5

d) 9(4x-6) = 6(2x-9)

f) 6(—x+4)-7(6x-10) = 3
h) 6(6x—8) = -9 (x + 8)

J) 7(2x-3)+8(-2x+7) = -4
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b) 6(6x +1) = —3(2x + 2)

d 6(x-11)+7(-x+5) = -9
f) 4(—x—-4) = -5(5x +9)

h) 5(5x+1) = —x-5

j) 2(x-10) = -10(7x-1)
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b) 5(8x+7) = -5(-2x + 12)

d 7(4x+3) = x-10

f) 5(—x-11) = —x+ 11

h) 9(x+4)+9(7x+2) = -8

j) 4(2x—6) +9(6x—12) = 10
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Vysledky: a) X - 28 b) x = 19
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1.9) Ries rovnice a urob sktsku:
a) 6(-2x+10)+5(2x+5) = -11
c) 5(7x+1) = 9(—x-1)
e) 4(7x-9)-7(Bx+6) = -9
g) 10(8x+8) = -9(8x + 8)
) 4(3x—-8)+7(4x-1) = -7

Visledky: a) x = 48 b) x = %
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1.10) Ries rovnice a urob skusku:
a) 3(x—2)—-3(—x-11) = 12
c) 5(7x - 1) = 9(3x + 10)
e) 4(-x—-5) = 4x+3
g) 7(5x + 10) = 4(8x + 3)
i) 9(2x+3) = 8 +5
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b) 6(2x+4) = 5x + 4
d) 4(x+10)-8(6x+8) = 8
f) 4(-x+9) = 5x + 8
h) 7(x + 10) - 8(8x + 10) = 10
j) 4(4x-2) = x-9
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b) 4(3x+4) = 5x -7

d) 8(6x+2)-5(xx-2) = -10
f) 7(5x+5) = -3(2x -1)

h) 7(3x+1)+6(4x+5) = 2
j) 6(2x—-5) = -9(7x + 6)
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